3.

e

it

A .

1.

e g
ST oy % fopg R A @ 2 2 |1

(1) WeETe

(2) MR

(3) W@

4) T (Fama)

(5) I Ay N

; S B Sy ) T e 2 2.

(1) ~ 1968
(2) 1965
(3) 1966
(4) 1967
(5) 3w g eq

afermon % 9o ST R 7 ?
(1) e THG

(2) iofa FAR

(3) Aa fepert 3are

(4) Hham 91

70°28' A 77°36'
74°27'8" & 77°36'5"
27028 B 84738
e =€ 21 =T

3)
D

(B
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Nahar Wildlife Sanctuary is situated in which
district of Haryana ?

(1) Mahendragarh
(2) Faridabad

(3) Rewari

(4) Nuh (Mewat)
(5) Not attempted

When
Commission established ?

(1) 1968
(2) 1965
(3) 1966
(4) 1967
(5) Not attempted

was the Public Service

Haryana

Who is the first Lokayukta of Haryana ?
(1) Babu Parmanand
(2) Ranjeet Kumar
(3) Nawal Kishore Agarwal
(4) Pritam Pal
(5) Not attempted

Panjokhra Sahib Gurudwara (Ambala) 18
dedicated to the memory of .

(1) Guru Sri HarkxshanSah!bgl

(2) Guru Hargobind

(3) Guru Tegh Bahadur

(4) Guru Gobind Singh

(5) Not attempted

anais:

The East longitude extent of Hary

(1) 7128 to 77°3€
(2) 170°28'to 77°36'
(3)
(4)

(5)

74°27'8" Y0 77°86'5°

77028’ to 84038'

Not attempted




~1

9‘

10.

sRam anfifes wdam (2021
T fFad g R 2
(1 74

(2)
3)
(4)
S

22) & NquR gfemn §

7 72 o)
[T

©
3]

I AR A Ed

s § vlisd sed ¥ H) N pot gen fead
t?

(1) 20,552

(2)  16.552

(3) 17.5562

4) 18,552

(5) IR TE AT 9T

foeitm o 2022 - 23 % wien TS W # FR F &
=3 % o g 9 ®1 foea e fwifa e
TR ?

(1) 98%
2) 62%
(3) 57%
(4) 43%
(5) TR FE T =T

% Faam (2020 -21) % AR FhATN H A
= Fis A Tl 2 2

(1) % 2,35,707
(2) 7 1,85,630
(3) % 190,950
(4) 72,590,630

(5) T I 291 91EA

7 4 “Gh g, 94 g’ & quny e
g fan o 9

(1) a9 wfaz

(2) A =iz 9d

(3) o oATET AT G

(4) o Far far arada

(5) 3 Al <A1 |rEd

ARAM/C3/Page 3
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9.

10.

in
How
Haryana according to t

Survey (2021 — 22) ?
(1 174
(2) 23
(3) 82
(4) 92
(5) Not attempted

many Sub-Treasuries are there "
he Haryana Economi

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,552

(2) 16,552

(3) 17,552

(4) 18,552

(5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

(1) 98%
(2). 6:2%
@) 57%
4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 - 21) ?

(1) ¥ 235,707
(2) ¥ 1,85,630
(3) ¥1,90,950
(4) T 2,90,630
() Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1) Shri Ram Nath Kovind

(2)  Shri Narendra Modi

(3)  Shri Manohar Lal Khattar

(4)  Shri Kaptan Singh Solanki

(6) Not attempted




g

«Ladli Social Security Allowance Scheme” -

11. ¢
m HTHTT?JW-: g’{gﬂ w41 Iﬁa:"” 0% Eﬁ Tl—é , 11.
® 1598, 2006 launched on :
(2)  15mad, 2005 (1) 1%t January, 2006
3 191, 2006 (9) 15t January, 2005
4 19, 2005 (3) 1t March, 2006
(5) I T G wrEd (4) 15t March, 2005

12.  sfamn § g o © g ¥ e ¥ R 1923 (5) Not attempted

¥ SOA-UE ¥ Wiy e B Sfier o’ 4|12 Who founded the ‘Zamindar League’ along wiy
AT Y 2 Fazl-i-Hussain in 1923 to spread the reach of th,

(1) 3Tzl THpR @H Unionist Party in Haryana ?
(1) Abdul Ghaffar Khan

(2) U= gerRm
(3) dfed Jehrm vmi (2) Rao Tularam
4) W gﬁ{ il (3) Pandit Nekiram Sharma
(5) IR TE | wE (4) Sir Chhotu Ram
(5) Not attempted
13. ;gamaamuvﬁmﬁmwm-mﬁm e ¢ ~ . Ca
L Eﬁt Y uuefE R Akhanac;!m;usk w:t?;;h])harmdhar in his bock
1) s _ WP, wr:rdas addressed the State of Haryam
2) F® I (1) Aryana
3 waw (@) KuruJangal
4) wRew (3) Haritanak
(5) 3T TEl ¢AT =R (4) Haribanka
14, zhemn § yohw Qe TRig _— ) (5) Not attempted
e ¥ g frg e T S 2 2 14. On which occasion is ‘Khoriya’, the famous d&*
(1) °eF TR F X form of Haryana most commonly performed ?
2) Frch ¥ =ER W (1) In tl.le month of Saawan
(2) During Holi
s T (3) On child birth
@) Fore o NG (4) On the occasion of marriage
(5) T e e (5) Not attempted
15. e & - e W, (el e Tl <) 15. Which district is famous for ‘Surahi’ (2 sl
% for wfag 2 7 necked pitcher) in Haryana ?
(1) WdgEg (1) Fatehabad
(2) TEAH (2) Gurugram
(3) el (3) Rewari
(4) TR (4) Jhajjar
(5) e A€l & AEd (M///
ARIMICS(Fage-d @ % feru T | SPACE FOR ROUGH WORK



16. el &1 oy 43 - Akl Rew, gfamon % fw |16, Morni Hills, a tourist attraction point, is situated
. o o fea 20 in which district of Haryana ?
D e (1) Charkhi Dadri
@ “"“W (2)  Panchkula
L;‘ i 3) Jind
—_ (4)  Ambala
l:‘ I T 3 TR () Not attempted
(o
. a 17.  Where is the Rajiv Gandhi Renewable Energy
17. T el s i s w3 e fod & 7 - Park situated in Haryana ?
(D) (1) Sonipat
@ " i (2) Panipat
(3) TEW (3)  Gurugram
(4)  wiewmg (4) Faridabad
(5) W T T >y (5) Not attempted
18. &fEmm § awaett € veEIfea 7 ged S oy 2 18. The highest elevated area of the Aravalli hills in
(1) Fema 6 it (R few) Haryana is i
@) e i vt (g fem) (D) MewitHills
3) D (i ) E:)) ];:EMP .
e
(4) fewu i waifeat :
; W {rou o) (4) Tipra Hills
® wmaeey (5) Not attempted
19. e £ 5@ 9t = e v R 3 i :
sk ﬁ 19. What percentage of the total land in Haryana
" 81% comes under agriculture ?
) ;
1) 81%
s Ez) 70%
(3) 76%
r‘;) 779, (3) 176%
. @ 7%
(5) I &7
o (5) Not attempted
0. " W TR A U A () i o 20. The first Grain ATM (Annapurti) of Haryana
e ot & %? State has been set up in which district ?
1) g=zen (1) Panchkula
2) (2)  Sonipat
(3) Teum (3)  Gurugram
(4) IR (4)  Yamunanagar
(5) I & & =T (6) Not attempted
ARAM/C3/Page 5
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N

- na i
=2 Y ‘Rl figar’ & am & of 21, Which dance form of Haryana is alg, knnwn
21, sRamn & fHy 91 w9 @) B G

‘Haryanavi Gidda’ ?
ST ST R 9 (1) Ratwai .
(1 (2) Swang
(2)  w@Wm @) Gugga
3) P (4) Jhumar
S (5) Not attempted
= RS 22. Who among the following is known 4 th
R ﬁqﬁéqﬁq‘ﬁﬁﬂm?ﬂﬁﬁ’%mﬁﬁﬁm‘g? ‘Haryana Hurricane’ ? '
D fie 29 (1) Kapil Dev
(2) =g el . (2) Mansoor Ali
3 fadg fig | (3)  Vijender Singh
4)  g¥ie FunR (4)  Sushil Kumar
(5) I A < =my _ (6) Not attempted
23. wf@Emm @ am EISIREET ’Jf%"‘” w1 Gy fohg od @ 23. Nirmal Gulia from Haryana is associated with
27 which sport ?
(1) Zesita (1) Handball
(2) FEhr ; (2)  Hockey
(3) Tfesa/mag (3)  Gymnastics .
@ = (4)  Judo
(5) I = T 9wy (5)

Not attempted
24. %ﬁﬁm%mﬁﬁmﬁmm 24.

Who among the following personalities fron
%aﬁaﬁzozzw‘wa%’mmﬁmw:?

Haryana received the Padma Shri in 2029 inthe
S g field of Social Work ?
(V) Ty da -
(2) Hrdt o wem

Raghuvendra Tanwar

A (2) Moti Lal Madan
(3) s = | (3) Neeraj Chopra
(4) =] Yoo TiEh (4) Om Prakash Gandhi
(5) I T 0 9ma (5) . Not attempteq
25. T T9H 1 @AEr 9 st i ———— T S 25. Gugga Naumi festival ig celebrated all ov¢f
5 Haryana in

(1)
(2)
(3)

"
the lunar month of Phalgun
the lunar month of Kartik
the lunay month of Bhadon
(4)

the lunar month of Shravan
(5)  Not attempteq

% @14 <% fery T | SPACE FOR RoUGH WORK

(2) =A% % g §
(3) W2 % <dzam |
(4)  oram + wzam i
(-5) IT AE 21 ATE
ARAM/C3/Page 6




26. Rearrange the following parts of a sentence | Read the following passage carefully and answer
labelled as PQRS to make a  meaningful |questions 29, 30 and 31.
sentence. ‘ Street theatre in India is a well-established
. power to work is a blessing and ancient art form. Despite the proliferation of
Q. let us realize that the privilege modern  means  of  entertainment  and
R. the love of work 1s success communication, street theatre continues to
8. toworkisugi e flourish in India.
(1) QRPS Street theatre as a channel of communication has
@) SRPQ for centuries been propagating reforms by
highlighting social, economic and political issues
(3) QSPFR present in the society. Unlike in the olden days,
(4) PSRQ its performance is no longer restricted to villages
(5) Not attempted or small localities of the city. They create or raise
awareness over. a particular issue of public
27. Choose the correct passive voice form of the importance.

following sentence.

- TTT—

2 - i
Bring a cup of coffee. 29. In olden days.', .street theatre villages
. or small localities of the city.
] N
(1) He requests you to bring a cup of coffee. 1) ot
(2) You are requested to bring a cup of coffee. (2) ‘wasrestricted to
(3)  Let a cup of coffee was brought. (3)  was not restricted to
‘4, Let a cup of coffee be brought. (4)was opened to
(5) Not attempted (5) Not attempted
28.  Pick out the part of the following sentence which|30. Modern means of entertainment and
has an error. If there is no error, your answer is communication street theatre.
(4). (1) helps establish
One of the state in which (2) does affect
A (3) does not affect
Satyagraha was offered was Rajkot (4)  helps popularise
B (6) Not attempted
where he spent his youth. ' ith issues of
C 31. Street theatre usually — iR 2
public importance.
(:1 ) B (1) does not deal
(2) C (2) is distanced
4 (3) s performed
(4)  No error (4)  deals
’ 4 pted e
_ (5)  Not attempted (6) Not at?eP

g RK
ARAM/C3/Page 7 % @ % fera T | SPACE FOR ROUGH WO
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35.

Choose the correct alternative to improve {he
underhined part of the following sentence. If g
improvement is required, your answer is (4),
Don’t judge each day by the harvest you reap bhyy
by the seeds that ave planting.
(B
.
(2)
(3)
4
)

that you plant
that will be plant -
when you plant
No improvement
Not attempted

Fill in the blank with the suitable Preposition.

The boy red hair jg my brother,

(1) from

(2) of

(3) for

(4)  with

(5)  Not attempted

In the following sentence, a word is ﬁ:uderlined.
Beneath the sentence, four different ways of
phrasing the underlined word are indicated.
Choose the best alternative among the four.

“Despite losing a lot of money in the stock market
crash, Suresh remained unphased.”

(1) unfizzled '
(2) unfazed

(3) unfaced

( éf ) unphazed

(5) Not attempted

Find out the correet indirect speech of the
following sentence.

She said to her father, “Will you give me
sweets” ?

36,

317.

38.

39.

40.

(1) She has asked her father if he would give
her sweets,

(2) She requested her father to give her sweets.

(3) She requested her father if she would give
her sweets.

(4) She asked her father if he would give her

: sweets.
(5) Not attempted

Pick out the correctly spelt word.

(1) nuigence

(2) privelege

(3)  familiar

(4) usualy

(5) Not attempted

Pick out the antonym of the underlineg Wor
the following sentence.

Alittle learning is a dangerous thing,

(1)  smooth

(2)  innocuous

(3) devilish

(4) plain

(6) Not attempted

Pick out the synonym of the underlined Word
the following sentence :

The child longed for the mother’s love.

(1) refused

(2)  craved

(3) shouted

4) fell

(6) Not attempted

Pick out the correctly spelt word.

(1)  intitutionalize
(2) intutionalize
(3) institutionalize
(4) instutionalice
(8) Not attempted

Pick out the correctly spelt word.

(1)  suggession
(2)  sugestion

(3) suggestion

(4) suggesstion
(6) Not attempted

ARAM/C3/Page 8
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- TR R

AL G ¥ R walfues sy ualaard) weg @ g (46, Prafafaa feed 4 @ vem % qifera foraren oy

uREH i
$ifa | A
(1) (1) g1 = afeaent, fiem, gferaaren
() welfy (2) 3 =@, WA, gEm
(3) Sl T T ———
(4) WEvE
(4) 3¢ = aeedl, =g, foarh
(5) W A€ 3N wigd |
(5) w7l & =

s2. Pl o § & e T 9 < RN |

46. W Wy 4w ¥ A F o we ¥
(1) R & AR Isn T — e

fore. T 31 7 s s et ez i |
(2)  §=F 9 aw J 6 aen — At -
@) IFF T X FW W AN — Oy (2 W
3) i
(4) vad F T A 4 — T ——
(5) I E &1 e _ 5) I

45, T el B R T R AW I o\ Bt 2 e i 42

e (1) wer
(1) =@ &
. o g
)
(4) arEafeH 4) foem
(5) I 7E 2 == (5) W TG G e
‘ X ’ : . ‘?
4. “EF guE 92 1 3d fauE d 48, ‘waey § M- Hiu R
(1) T
i B 2 dd
(2) W% gy
(3) wfth % ¥gEm o ad
(4) qhwfea o ol 41 R i
_ (5) IWAL FmMEEd e

RK
ARAM/C3/Page 9 % &4 % fé1u ¥ | SPACE FOR ROUGH WO
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g 53. Frafafiga & @ fre feew & sen 9 7
PR ER Rl T
22 3arew gafea 787 & 2
mgismurmamﬁmmﬁmaﬁm ! " &
(1) — ‘g dea T,
'.1‘ Wmmm Wﬁ'ﬁTﬁ,'ﬁl’RI’ m:
FateHRS QR dT _
— - (2) uﬁﬂwu‘awmﬁg«@%
3 ATTYH HaThE JTHRY » ot iz
AT HHHTEH U AT
. @) ®H — N dhem T g g g
(5) I @ I E TG-S FT |
| fgen & < foaeht = g
50. SewTN, WEEIE IR NI wedl # firr ¥ AR Yeret st el 4 1
YT ¥ g 1 SR R T 2 (4) 3T — 9t gra 9@ 79 2
(1) FFF oG - | OIS S el
(2) ¥IE g
@®) o wg 54. ‘e i frva F onft s 2 1 e § et
(4) Ul ug weg &1 SuE v i |
(5) I AL & = (1) gyE, qead iR faresht soert
(2) dgHa SgE
51, ‘9= TBaT Ba = 9« fatem g v wa (3) em I
- W@ﬁmuﬁmmwmi @) foesft suart
1) ¥ d|g T W A THaE .
(2) wEE = =24 4 9= &
(3) FEem=iEaA Al
(41 -aﬁ\aagzﬁ%m 55. fam-fas it gt @ w5 s =1 =57 AT |
. : 1) = N, w Afgs 2, sIeed & IHT
(5) I FE &A1 FEA fora @ 2 |
2 # fa, St o Afgw R, wwd T T
52. ﬁqﬁmﬁwﬁﬁﬁm%ﬁmﬂmaﬁmﬁw T U RrE R
(1) =l (3) ﬂ'ﬁfﬁﬁﬁﬂt{%éﬁﬂm%,mﬁwm
2) w* W '
(3) @AM (4) ¥ i S uw, Afgwr 2, sowe @ T
(4) =A@ fora ot &
(5) I F# T Ared (5)  Fa A T =Ed
ARAMIC3/Page 10 T @Td @ feTe ¥UT | SPACE FOR ROUGH WORK i




56.

i wual & are 9 Pead fQu e & | A T

ael @ s 819 g of) &udl @) g WiEd §Y AR ﬁuh:
$ite & aifbs su @ Ha-wA Fsad Bu qo g
3 fsaa/fead 2 |

PYA ;

(1)
(2)
(3)
(4)

(5)

1

3o Ao ikl § | Ty &
$o HRfal wem @ | L
ot e et @ |

D IOFRATE |
aD o w3 FRAai & | ~
dlD) o vem $ifa 8 |
+aa 11 Frverar & |

s I 3R 101 fisverd 3 |

et 139 11 froperd |

FI 11 38R 111 Freperdt § ‘
SR 3 Sy

Frfefem & & S fm 2 o

9,18, 27
6,9, 18
14, 21

8,16, 24

ST S =Ty

56.

57,

58.

e

Three statements are followed by three

conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known facts. Decide which of the given

conclusions logically follow(s) from the given
statements.

Statemelhts :  Some tables are chairs.

Some chairs are beds.
All beds are rooms.
(D
(Im)
(IT1)
Only II follows.

Conclusions : Some rooms are tables.

Some rooms are chairs.

Some beds are chairs.
(1)

(2)
(3)
(4)
(5)

Only I and 111 follow.
Only I and 11 follow,
Only IT and TII folloy.
Not attempted

Find the odq t;,-ne out.
M 9,18, 27

(2 6,9,18

(3 7,14,921

(4) 8, 16, 24

(6) Not attempted

daughter of the woman who is

the mother of the
husband of my mother”. Who is

the lady to Raja ?

(1)  Sister

(2)  Aunt

(3)  Daughter
(4)  Sister-in-law

(5)




e

59. frafaRes wwoft § :
ﬁmmaﬁ{ﬁm@mﬂ“ﬁ 59. Lett .
; i er-s and their number codes are gi i
— ' E|X|P|M | R|S|T following table : EIVen in the
SIS UE I 2 4 7 9 3 5 Letter E P MT ‘__E_
| _ ) S T 1
g - ; Number Code | 1
%"wwm%%ﬁmﬁﬁaﬁﬁaﬁqm . 3L5_
ST EMRS' #1 Ul g §9 2 ou have to find out which of the alte )
(1 1937 has the correct coded form of ‘EMRS’ Tnativeg
() 1793 (1) 1937
3 1973 NG
(4) 1925 (3) 1973
PR < — (4) 1925
(5) Not attempted
60 P
. W@WT’%‘Q‘WW 5 STTT-ITEAT FE F | go
<R 3 R | W€ QR R W 3 s s | Albus Pl i Bys- Al Sowie e
R Y S a5 2 AT-I § & a1 placs G N By Q0 "I Jue known S
4 AT 8 | 98 different routes and from ‘R’ to ‘S’
PH S T fhan e H TR A THaT 2 ? - ekl curran
_ 7 different routes. How many routes does he know
@8 16 from ‘P’ to S ?
(2 10 (1) 16
(3) 20 (2) 10 -
(4) 30 3) 20
(5) IR AET & e a0
) (5) Not attempted
61. mmmmﬁ%wﬁmmﬁmmm
S - 61. Find out the word which can be formed by using
T 152 bl EJISL g
del > | the letters of the given word.
CONSOLIDATE CONSOLIDATE
(1) DETAIL (1) DETAIL
(2) NASAL (2) NASAL
(3) LOCAL (3) - LOCAL
(4) LENTIL (4 LENPEIL
5 T i = = (5) Not attempted
% ®a H MANGO is coded as 13114715 in a certain code
. # MANGO #1 13114715 62. If is co
- s A mmﬁ a1 3E F2 e | FIGHT g2l language, then how will FIGHT be coded in that
7;7_.—;(3 T Al ) same code language ?
e B e T (1) 697620
(1, 697620 (2) 696819
(9) 696819 (3) 697819
(3) 697819 (4) 697820
(a) 697820 (5) Not attempted Iy
5 T AAE s ; car | SPACE FOR ROUGH WORK
— a2 Wﬂdmm. 641929
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¥ s w1 S A, R sier i )

633,

Seleet the combination of numbers so that the

63‘ yaferd R SR & U el wsg s S dd letters  arranged accordingly will form 4
SR meaningful word :
NTE
NTEROM
1 2 34 5 6 g
1 2 3 4 b
(1 6,5,4,321
(1) 6,5,4,32,1
2) 2,5,6,3,1,4
(2) 2,5,6,3,1,4
B Balho (3) 6,3,2,1,4,5
4) 6.3.1,2,5,4 negnT Ol (4) 6,3,1,25,4
(3) I FE A (5) Not attempted
g4, Traforfed # & shvw g i 3 2 64. Find the odd one out.
(1) ZERO (1) ZERO
(2) CARE (2) CARE
(3) PALE (3) PALE
&) STAR (4) STAR
@ (6) Not attempted
65. T Wl fwew w1 =z Hifve Rrad o ug fi gz |69 Choose the correct alternative which is related to
ﬁﬁwﬂﬁﬁﬁﬁﬁaﬁﬁ-@qﬁ@ﬁﬂ the third term in the same way as the second
T term is related to the first term :
. P Sheep : Lamb : : Butterfly : ?
') . (2) Tadpole
(2) He=m &Hl
o= 3 Larva
@) WA (4) Caterpillar
4) @i (6) Not attempted
(5) 39 T2 & = -
- ' 66. Choose the correct option in which two terms of
66. Eﬁﬂé‘ﬁmw?ﬁﬁqﬁqﬁgﬁ%ag:ﬁ% the pair are related in the same way as in the
fau T gm i T i 7 - pair given below :
AIB2303D4 A1B2103D4
(1) GysHyg:Iipdyg SORNETE - STRRSTRUT
@) W5Xg:Y;Z (2) WyXg:YyZg
3) PigQi7:RigSyg 3)  PigQqr:RygSyg
(4) My Nyy: 044 Py, (4) My Nyp: 03Py
\-__ﬂ_ I T4 21 AmEA (6) Not attempted i

ARAMIC3/Page 13
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67. iy =
lﬁﬁ T 4 :
8 1 g T?q; qi:: # I Rwn &) Nt g *h A3 gu[67.  Five persons are sitting in a row facing y
. ;?c’:] d ;—,ﬁa UsheH qrRfl 3 Ad) ® | e U F Sunita is sitting to the immediate ﬁgh‘:flr
i & - ’%v‘:ﬁf TR 3 B 9T AT R a4 aw Pankaj. Kamal is sitting next to Raja v, '
ik 1 9 QS | gelar & w1 A3 ¥ 2 sitting on the extreme left and Tara is not Sitzi
(D U 3k am next to Kamal. Who are sitting adjacey "
. (2)  *9d 3R ary Sunita ?
| J (8) Y 3k wRe (1) Raja and Tara
(4)  Y&s 3k | (2) Kamal and Tara
(5) I ¢ 91 9" (3) Pankaj and Kamal
‘ ' (4) Pankaj and Tara
68. W= oy fordlt AT et 1 S0 WA F, @ e (5) Not attempted
TIS B -
(1) W9 UH TH @i TIF W YH qAT 44 68. When you visit any historical place, you tryto:
. HET | (1) just pass time moving from one place
(2 o fisll & @ e 9 | gmother;
| i 3) et ¥ wiewhw s ~ — (2) just enjoy with your friends.
| L (3) ~ éxplore the cultural or social aspect of i
’ design.
(‘%) T TR TH ? qUe F !_HI J (4) take pictures and enjoy a break from
SEll monotonous life.
(5) IR A& T =TEd (5) Not attempted
69. frafaRaa dem =@en # w9 g (?) % T W|g9. What will come in place df the question mark
S T et ? in the following number series ?
99, 80, 63, _?_, 35, 24, 15, 8, %’ _ 99, 80, 63, _2_,35,24,15,8,3,0
ol a« A ;
(1) 42 (1 42
(2) 38 (2 38
1 (3) 58 (3) 58
(4) 48 (4) 48 .
(5) IR AEI AT <A ; (5) Not attempted
70. frefafaa AT AJEAl § g fag (7) &6 WM W 70. What will come in place of the question mark (/
e den st ? in the following numerical series ?
14, 19, 35,59, _2_, 179,299 14,19, 35,59, _2 179, 299
(1) 129 (1 129
(2) 131 (2) 1381
(3) 130 (3) 130
(4) 132 (4) 132
B r:,i ELall 7{?‘117' red — (5) INut. attempted L
S RAM/CSIPagE 14 F fére TaTA | SPACE FOR ROUGH WORK '
e @ p o O 9
€ 1 Kk ¢ & T «
b /\ i
5 lo ‘6 Iu\f ' ¥ r ?7
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71

|
| 8]

4,
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i AR & a4 Felcilag ¥ Q S9-a/A w99
¢

:j @ T U1 g & wgd gy Rl w A @ ot @
qo1 g S FETg B GIar @ |

(b) T AR H T NS S H U g # |

() ¥EFO Nyl ° wig () & gy yran @ @ |

3 R e & W ey 1 9 B

(1) F9d (o)

k'Z‘\ (a) @ (b)

(3 (b) AT ()

4) 99 (a)

(3) I T

= 7g 3 ¥ 1 0 e ol & ofic e 5 A A
23 HieX I g 7 Fht R | 39 awg H ohwa 1y T
i
(1)
@)
{§)
4)
(5)

6 Hiex wfa s
3 die ufy dshe
47 3y dhe
5 Hiex 9fy U
I TE & AR

ﬁa@?ﬂ?ﬁm,zozz’fﬁﬁwa@wg?
W) R e @ 30 : e e % o A
Lo

2) ﬁmﬁ@%:
| i
‘W%W%mqﬁqﬁm”
TR ST @35 : et 0 S i
ferm feers mam

T e e

A FEw & o

(3)
(4)

(5)

™A A d @ (HTTPS)
=fem |

1) 7P 592 giaw i dada
@) #R T i e P
W TR 3 gt g
5) I 4 21 sy

— 1t g 2
T w39 fe s

71.

72.

73.

74.

T T4 & feru Tur4 | SPACE FOR ROUGH WORK

Which of the following statements is/are correct
about Apical Meristem ?

(a) It is present at the growing tips of stems
and roots and increases the length of the

stem and the root.

(b) Due to this the girth of the stem or root
' increases.

(¢) It is seen in some plants and located near
the node.

Choose the correct option from the codes given
below :

(1) Only (¢

(2) (a)and (b)

(3)  (b)and (c)

(4) Only (a)

(5) Not attempted

An object travels 9 metres in 3 seconds and then
another 23 metres in 5 seconds, What is the
average speed of the object ?
(1) 6mss

(2) 3mis

@) 4m/s

(4) 5m/s

(8) Not attempted

g5

3L

What is the theme of the ‘World Ozone Day’,
2022 ?

(1) “Delhi Protocol @ 30 - Protection of Life
through Global Cooperation”

(2)  “Rio Protocol @ 36 : Global Cooperation for
Protection of ozone”

(3) “Montreal Protocol for Protection of
Ecology”

(4) “Montreal Protocol @ 35 Global
Cooperation Protecting Life on Earth”

(6)  Not attempted

HTTPS is an acronym for , which should
be used while entering sensitive information.

(1)
2)

Hyper Text Transfer Protocol Sequence
Hyper Text Transter Protocol Secure

(3) Hyper Text Transmission Protocol Secure
(4) Hyper Text Transmission  Protocol
Sequence

(5) Not attempted




-

75. Which among the following States in 19 "
q

75. ¥ 1960 ¥ Yo ol WEWY AmE Q) AU usl

TR H & fore fFafifea § @ e os #) Q ymi
] A e o7 9

bifurcated to create two new States of Gujy '
B
. and Maharashtra ?

(1 AR (1) Nagpur
) W (2) Bombay
| (3)  STERqET] (3) Ahmedabad
@ T« (4) Daman
- (3)  IW FE T =R

(5) Not attempted

76. fr=fufes 391§ /, afdenett it wagm = arferr &3 | 76.

Among the following countries, which was {|

ITe ifas W A A ? last country to give voting rights to women ?
(1) §34 31 (1) Saudi Arabia
(2) =N (2) China
(3) ufeR= (3) Pakistan
(4) AT (4) Mexico
5 = T AT ' (5) Not attempted
' 77. With whom is the Cash Re Ratio (CR
K 77. Toc sRiEE ouE (H.Am.eR.) i feas um @ kl t?w Sl it R Tsia &
B I4
FATE? ¥
: (1) Finance Commission of India
(1) 9rd =1 faq sA=am .
— (2) Comptroller and Auditor General of India
(2) 9mE ¥ P i HerrEn wWiEh _
(8) Reserve Bank of India
(3) wrdE fiod &
) , (4) International Monetary Fund
(4) IR HE B

(5) Not attempted
(5) e & vETEd
78. Which among the following countries ranked -

- = 32
78. f=fafEa v 9 fra o 3 “mUR F hl T % highest on the “Ease of Doing Business” Index

TEF mm\zozﬁmr—mmﬁm%? 2021 ?
) i (1) Portugal
(9 am (2) India
(3, @ (3) China
4y i (4) New Zealand
(5, e AH ZA =TEd (6) Not attempted
B : —"
RAMIC3/Page 16 T @14 @ fe10 TUT | SPACE FOR ROUGH WORK
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79.

81.

82,

< @i aryal @ffetor ufkar &1 am @} ) da
£ @ g8 T gl B Al FA 3N 39 W A 9 8 W
39 gen-agel! & waftfa @ 2

Sy (3%)

e gid

39N §id

s e

IR T8 A1 qTE

Fefafed § § SH-a1 Jeadh sgeo B §3e A Hasy
T (Tgw) Fererat @ o 1@ s arferent § Fwar & s
I B FE W WY R Fawr Al sgmw w)
e Yo @ 2

(1) T
(2)
(3)
(4)

(5)

ﬁm%ﬁgaﬁﬁ%aﬁmﬁﬁqﬂqmﬁm
Wﬁwmw(w)%mm%?

L wE e, W, TR S
)

(3)
(4)

(5) ST T <A1 =gy

———

79I

80.

81.

82.

What is the name of the sorting method that
refers to sorting a given list of clements and
swapping them if they are unordered ?

(1)
(2)
(3)
(4)
(5)

Deque
Selection Sort
Insertion Sort
Bubble Sort
Not attempted

Which of the following network device extracts
the destination address from the data packet and
looks it up in a table to see where to send the
packet and sends signals only to selected

devices ?

(1) Gateway

(2) Hub

(8) Switch

(4) Router

(5) Not attempted

Which of the following options lists all devices
used for output from a computer ?

(1) Flat panel display, Plotter, Barcode scanner

(2) Laser printer, Optical character reader,
Plotter

(3) Laser printer, Inkjet pPrinter, Scanner

(4) LED display monitor, Inkjet printer, Plotter

(6) Not attempted

Which of the following lakes is the result of
tectonic activity ?

(1) Kolleru Lake
(2) Sambhar Lake
(3)  Chilika Lake
(4)  Wular Lake

(5) Not attempted

T o & forn vur | SPACE FOR ROUGH WORK
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§ A #aaA vee anrdi
wadraal 8 423 @ead gRE 1976 1 dld nu sy 2

fpafeafiag

al o ayand
A ‘«J’f_{\\‘i gus
(@) SllhdATeHS
(@) gy

A2 fBu e we ¥ 98 Aoy @1 2u4 hifen

vat @=no(d)
Ay &3 ()
3 Q) @ ()
4 ¢) 7T (b)Y

50 IS I

i Tem @ wfenelt #1 wew AfufEm, 2005 %

== 3, F=fofad § 9 #59-51 97 & 757 _ 2

1w wtufEm 39 s S R FE9 w1 T g

oA g |

(5]

TS 21 & GRET T @ |

3 == sfufim Saw daies dedl A wE

e e e R wE A 3

‘4) =z g e s @ Ee fa w1 o

YHR HE4T 8 |

(5) FE T 291 9rEd

s wEAm dnzd (tEHLA) weE TS %
Srgaras FarA £ 23 Taavar, 2022 F @9F B A

gF dzw wwl Avntaa 10 fi 2

AT
2, 21
(4) EAC]

(5) 3A 4741 24 "=Eq

wlavig =

o= wfufEm wfeensi € WAk @ T

H.l.

84.

h

Which of the following word/s was/were addeq
the Preamble of the Indian Constitution ip 197, |
through the 42 Amendment ? i

(n)  Socialist
(h)  Sovereign
(c)  Democratic
(d) Secular

Choose the correct option from the codes given
below :

(1) (a)and (d)

(2) Only (b)

(3) (a)and(c)

(4) (c) and (b)

(56) Not attempted

Which among the following statements is not
correct with regard to the Protection of Women
from Domestic Violence Act, 2005 ?

(1) Sexual abuse

domestic violence under the Act.

is considered a form of

(2) + The Act protects women from both physical
and verbal abuse.

The Act does not extend to ‘live-in’
relationships and only covers marital
households.

3)

(4) FEconomic abuse is considered a form of
domestic violence under the Act.

(5) Not attempted

Where was the 20th meeting of
Prosecutors-General of the Shanghal
Cooperation Organisation (SCO) Member States
held on 234 September, 2022 ?

(1) Astana
(2) Tokyo

(3) Tashkent
(4) Kiev

(6) Not ut-tem;_:ted_ — o

o wd %B_f%n:{ T4TH | SPACE FOR ROUGH WORK
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Oranges are bought at 5 for = 10 and sold at
gé: a.a Mo | ™ wfewa ® : 6 for T 15. The profit percent, is :
(1) b50%
1 50%
: (2) 26%
@ 25%
(3) 386%
@ 35%
(4)  40%
. —~ (6) Not attempted
(5) I A R ot attemp
o TR W 7_1_% s @ ¥ 15 e w5 87. If the simple interest on a certain sum for
87. 2 - 1
1 months at 7—% per annum exceeds the
TTROT ST, I SR W12 = % a1f¥e @ W 8wy 2
. simple interest on the same sum for 8 months at
TTUROT &S . a’ﬁa{ 'Emfsl T 1
% % ¥ 32:60 %a (x ﬁ) 12 5% per annum, by ¥ 32-50, then the sum (in
¥ T)is:
sl i (1) 8,250
i ' 2 3,000
(3) 3,060 3) 3,060
4) 3,120
' S (4) 3,120
W S (8) Not attempted
88.

ATE Fd =1 15 A & 9o B 3eht =& =+ 20 fom

88.
TR EHA R | AR 7' A et 3w w0y 4 R

A can do a work in 15 days and B in 20 days. If

they work on it together for 4 days, then the
% W T, ﬁmﬁmﬁﬁmmm @ 5T & 2 fraction of work that is left, is :
8 8
1 — 15
15 < 15
1 1
2 = =,
1= @ 5
1
3 = 1
1) SR
170 R
4 L.
| 15 @ L
\ (6) I & & ==
(6) Not attempted
8 TF ) A qen e # s S “
|| 3 i i - 89. The ratio of length and breadth of a rectangle is
T $a ufar qen de ¥ 519 % U 2 3 : 2 respectively. The ratio of its perimeter and
mﬁa\mﬁ (frex @) 2 . area is 5 : 9. The breadth of the rectangle (in
1) 13 metres) is :
@ 6 (1) 13
(2) 6
@) 8 @) 8
~_ B I & A (5) Not attempted
ARAWCS:'Page 19 1% %14 @& ey Tum / SPACE FOR ROUGH WORK




*

90,

91.

92.

93‘

pop ey A p % e @382 yils )

(5) IF A [T =17

T weS S Th W B 25 ¥ U F BN war ;|
e |, 3 @ W 52 F on = R Rred 3w
TS, € TRA ¥ 324 s W gen | won
w1 arat g o ¢

(1 52

@ 12

3 15

4) 25

(5) T &I &A1 =rEd

R o FE THT Hew B, @ @A wem
FHH ? 968 (n3 — n) 7T forfora 2 2

1) .18

@) 3

3)

@ 12

(5) 3 4@ &A1 e

y,x+3)F ourudft A dqr y =8B @ x = 1 2 |
x=2%fm ywmum 7 2 2

(1) 16

2) 6

(3) 10

4) 12

(5) I TE 241 =wq

ARAM!C?.J’Page 20

90,

91.

92.

93.

If [p] denotes the greatest integer less than or
equal to p, then

- 1] + [4 g] +12]
is equal to : :

(1) 6

(2) 3

3) 4

4) 5

(5)

Not attempted

A boy was asked to multiply a certain number by
25. He, by mistake, multiplied the number by 52
and got the product which was greater than the
correct product by 324. The number to be
multiplied was :

(1) 52
(2) 12
(3) 15
4) 25
(5) Not attempted

If n be any natural number, then by which
greatest number is (n® — n) always divisible ?

(1) 18

(2)

(3)

(4) 12

(5) Not atterﬁpted

y varies directly proportional to (x + 3) and y = 8

when x = 1. What is the value of y when x =2 ?

(1) 16
(2) 6

3 10
(4) 12

(5) Not attempted

_‘('_'J_H_ GaL| fﬁ fr-m wr; SPACE FOR ROUGH WORK



g4, T U AN A U N $& gt farn Rrad 39 fysor )
Y WA W 26% TN R | vr A smm qrd)
quT g 1 WIET H e R
D 1:4
(2) 5:4
(3 4:5

@ 1:5

(3)  SW T T 9wy

% THETW AWA RN R AW R 3#d./a. wfy

ﬁé:sﬁw%%tﬂﬁ@mmm% | T | I
7% foreeft gft 7w s anht 0

(1) 96
481,
60 .
T2 .

(2)
(3)
(4)

(5) I T T 9=

A%?%,ooomaﬂ@wm%m | $8
m%m%&,soc%mbwﬁﬁa
Wlﬁﬁaﬂf%mﬂm3:1%mﬂﬁiﬁl
w,ﬁamﬁm%mmm?

04,

@)

(5)

]

A milkman mixed some water with milk to gain
256% by selling the mixture at the cost price. The

ratio of water and milk, respectively, in the

mixture is :
(H 1:4
(2) b:4
3) 4:5
4) 1:5

(6) Not aittempted

A bus moving at a speed of 24 m/s begins to slow

at a rate of 3 m/s each second. How far does it go
before stopping ? |

() 96m
48 m
(3) 60m

(4) 72m

Not attempted

A began a business with T 85,000. He was joined
afterwards by B with T 42,500. For how much
period does B join, if the profits at the end of the

(1) 8am year are divided in the ratio 3 : 1 ?
(1) 8 months
o (2) 4 months
e (3) 5 months
~ wuE (4) 6 months
®) T & ed (6) Not attempted
ARAMICTPage 7
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97.

100.

(1)

s =it ol e &1 76% @d W R | gl
e 209% 5 Wil R A 98 79N @ ¥ ) 1005 )
Qa0 = A R | 3gh F9q ¥ FQad gofy -

(1) H0%
(2)  10%
3y 25%

A8 QA1 WIEd

T Wipa sl f geht 7 16 e w, aey 2@ wg
S R 1@ T g ¥ 1 AR W, gemedt % urer
18 w2 o ® | It g § go fheht demd § o
(1)
(2) 4

(3 5

4) 6 :

(5) TR & 1 9=

®: & a, b, c,d, e, f 59 THK & 6 ab = 1,
bc=%,cd=6,de=2mef=%%I(ad:he:cf)

4 37

Bl |

I

[# 4]

FHIOA TR ?
72:1:9
4:3:27
6:1:9
8:9:9
I T 21 e

(2)
(3)
(4)
(5)

A F1 AmEAl F 5%, B AW F 15% % UK B
A7 B H s F 10%, C N I F 20% F
T 2 | afz C & AAmEst T 2,0008, A, BaaC
%1 wmest &1 e (T H) 2

(1) 18,000
(2) 6,000
(3) 9,000
(4) 12,000

(5) Ie &1 21 ArEd

97.

99.

100.

B |

A man spends 75% of his income. His incom, is
increased by 20% and he thus also increageq i
expenditure by 10%. His savings increased by -
(1) 50%

(2) 10%

(3) 25%

371%
2

Not attempted

(4)

(6)

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is included
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list ?

1) 8

(2 4

3 5

(4) 6

(5) Not attempted

Six numbers a, b, c, d, e, f are such that ab = 1,

1 &
be = E,cd='6, de = 2 and ef = % What is the

value of (ad : be : ¢f) ?
(1) 72:1:9

(2) 4:3:27

8 6:1:9

4 8:9:9

(5) Not attempted

5% income of A is equal to 15% income of B and
10% income of B is equal to 20% income of C.
If income of C is T 2,000, then the sum of the
incomes (in ¥) of A, B and C is :
(1) 18,000

(2) 6,000

(3) 9,000

(4) 12,000

(5) Not attempted
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